

		Vendor Ranking		Page 1 of 1
Letting:	05231107	November 07, 2023 2:00 PM Call Order: 005	Contract:	E55C0
District:	District 5	Counties: OSCEOLA	Fed Aid No:	N/A
Contract Time: Contract Desc:		DAR DAYS ng and Resurfacing	Project(s):	42914217217 (*)
	/ opnation			

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Winning bid	\$579,571.32	100.00%
2	RANGER CONSTRUCTION INDUSTRIES, INC.	Responsive	Non-Winning Bid	\$733,375.00	126.54%
3	MIDDLESEX PAVING, LLC	Responsive	Non-Winning Bid	\$804,824.12	138.87%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

5
FDOT
y

Tabulation of Bids							
Letting:	05231107	November 07, 2023	Call Order:	005	Contract:	E55C0	
District:	District 5		Counties:	OSCEOLA	Fed Aid No	: N/A	
Contract Time:	120 CALENI	DAR DAYS			Project(s):	42914217217 (*)	
Contract Descr FDOT District 5 Proposal ID: E550 Project No.: 42914 Fiscal Year: 2024 County: Osceola Contract Calendar Lead Time: 14 Da	C0 42-1-72-17 r Days: 120	ng and Resurfacing					

This is a maintenance Pay Item Project.

Intent:

The work under this Contract consists of asphalt milling and resurfacing, replacement of traffic loops, painted pavement markings, preformed thermoplastic pavement markings and reflective pavement markers on various Department maintained roadways in Osceola County.

Experience:

For this Contract, the Contractor is required to have at least three (3) years of experience in the performance of Asphalt Paving, or the Project Superintendent must have a least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of prequalification with the Department in "Hot Plant Mix Bituminous Couse" will suffice to meet the above requirement.

Line No / Item ID A	Alternate Quantity Units	(1) TUI INFRASTR	UCTURE	(2) RANGER CC INDUSTRI		(3) MIDDLESE	X PAVING, LLC
() indicates item is bid as Lui		PARTNEI Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
0005 0101 1 MOBILIZATION	(1.000) LS	64,256.27000	64,256.27	70,000.20000	70,000.20	75,000.00000	75,000.00
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) C DA (LS)	15,120.00000	15,120.00	149,500.00000	149,500.00	55,000.00000	55,000.00



Tabulation of Bids

Page 2 of 5

Letting:	05231107	November 07,	2023 Ca l	l Order: 005		Contract:	E55C0	
Line No / It Item Descr		ite Quantity Units	(1) TU INFRASTR	UCTURE	(2) RANGER CO INDUSTR		(3) MIDDLESE	X PAVING, LLC
() indicates	item is bid as Lump Sun		PARTNE Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
-	104 SIGNALIZATION AN E, INTERSECTION	28.000 D ED	250.00000	7,000.00	46.25000	1,295.00	2,000.00000	56,000.00
TEMPORARY	107 1 TRAFFIC DETECTIC NANCE, INTERSECT		250.00000	7,000.00	40.00000	1,120.00	2,000.00000	56,000.00
MILLING EXIS	70 6 TING ASPHALT 1/2" AVG DEPTH	18,581.930 SY	2.24000	41,623.52	6.55000	121,711.64	7.00000	130,073.51
	7 83 NCRETE FRICTION FFIC C, FC-12.5, PG	1,533.010 TN 576-22	276.80000	424,337.17	227.00000	347,993.27	261.00000	400,115.61
	2102 BLY, F&I, TYPE B	8.000 AS	1,050.00000	8,400.00	3,375.00000	27,000.00	1,000.00000	8,000.00
	2106 BLY, F&I, TYPE F	1.000 AS	1,400.00000	1,400.00	4,000.00000	4,000.00	1,500.00000	1,500.00
PAINTED PAV	11101 EMENT MARKINGS VHITE, SOLID, 6"	0.880 G, GM	1,400.00000	1,232.00	2,500.00000	2,200.00	4,000.00000	3,520.00
PAINTED PAV STANDARD, V	11102 EMENT MARKINGS VHITE, SOLID FOR E AND URBAN ISLA		1,400.00000	266.00	3,334.00000	633.46	5,000.00000	950.00



Tabulation of Bids

Page 3 of 5

Letting:	052	231107	November 07, 2	2023 Ca l	I Order: 005		Contract:	E55C0	
Line No / Item Desc		Alternate	Quantity Units	(1) TU INFRASTR	UCTURE	(2) RANGER CO INDUSTR		(3) MIDDLESE	X PAVING, LLC
() indicates	s item is bid	as Lump Sum		PARTNE Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION:	0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0055 0710 PAINTED PA STANDARD, DIAGONAL C	WHITE, SO	OLID FOR	130.000 LF	14.00000	1,820.00	2.50000	325.00	10.00000	1,300.00
PAINTED PA	WHITE, SO	OLID FOR ST	12.000 LF OP	28.00000	336.00	3.75000	45.00	15.00000	180.00
PAINTED PA	WHITE, SI	MARKINGS, KIP, 10-30 O	2.050 GM R 3-9	1,400.00000	2,870.00	937.50000	1,921.88	4,000.00000	8,200.00
PAINTED PA STANDARD,	WHITE, 2-		0.450 GM ON,	1,400.00000	630.00	1,565.00000	704.25	3,000.00000	1,350.00
0075 0710 PAINTED PA STANDARD,			17.000 EA	35.00000	595.00	57.00000	969.00	75.00000	1,275.00
0080 0710 PAINTED PA STANDARD,			0.410 GM	1,400.00000	574.00	2,500.00000	1,025.00	4,000.00000	1,640.00
PAINTED PA STANDARD,	YELLOW,	MARKINGS, 2-4 DOTTED ED EXTENSI		1,400.00000	28.00	1,565.00000	31.30	4,000.00000	80.00



Tabulation of Bids

Page 4 of 5

Letting:	05231107	November 07,	2023 C a	all Order: 005		Contract:	E55C0	
Line No / Item Item Descripti		ate Quantity Units		JRTLE RUCTURE	(2) RANGER CO INDUSTR		(3) MIDDLESE	EX PAVING, LLC
-	is bid as Lump Su		PARTN Unit Price	ERS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	(ASPHALT RE	PAIR (MECHANI	CAL) (TN				
0090 E706 1 A REFLECTIVE PAN MARKER(REMON REPLACE)(CLAS	/EMENT /E AND	464.000 EA	4.49000	2,083.36	6.25000	2,900.00	10.00000	9 4,640.00
	PHALT REPAIR HANICAL) (TN)	Section Totals:		\$579,571.32		\$733,375.00		\$804,824.12

Contract Grand Totals:	\$579,571.32	\$733,375.00	804,824.12
Contract Crune Fotals.	~ ~~~,~~	÷	



			Tabulation of Bids			Page 5 of 5
Letting:	05231107	November 07, 2023	Call Order: 005	Contract:	E55C0	
		120.57(3), Flori required by law	to file a protest within the time pre da Statutes, or failure to post the within the time allowed for filing a ceedings under chapter 120, Flor	bond or other security a bond shall constitute		

and of proceedings and enapler 120, 1 londa Gala